Ro#S] sus] ImAo
, ™
Guide Rollers ‘ﬁL Jj\ ‘ Spring Washer
M (Hex socket button head screw) “ : Hexagon Nut
J‘]I[: ) |
[ e
| o {EE s
4 AL ‘_i
Plate Washer / Fiij \ ‘
] A
0.5 |
(Steel) (Stainless Steel) Lliali
Type Body
S45C steel
REE Black oxide finish
RLP-SUS | [ SUS303
Steel Stainless Steel D Lloil a M L Weight
Part Number Part Number (g)
RLP0605 - oo0s | 55 5.7
: M 4X0.7 -16L 10
RLP0606 - 6| 0 |6 | 10| 4 5.2
RLP0611 - 25929 111 M 4X0.7 -25L| 9.2| 12
RLP0807 RLP0807-SUS 6 Sl 7 | 55 M 5X0.8 -20L| 65| 15
RLP0813 - 5% 113 ~ M 5X0.8 -30L|10.5| 18
RLP1008 RLP1008-SUS 5% |8 M6X1 -25L| 89| 25
10 —ooa0 16 | 65
RLP1016 - 5% |16 M6x1 -85L|. 0| 30
RLP1210 RLP1210-SUS 1 5% 110 19| 75 M 8X1.25-30L| | 40
RLP1216 - 5% 116 ~IM 8X1.25-40L | 14.9| 47
RLP1511 - 595 111 M10X1.5 -35L |12 | 80
15 —ooa0 22 110
RLP1517 - 5% 117 M10X15 -45L |16 | 90
RLP1712 - o008 112 M12X1.75-45L | 18.7 | 110
17 oo 25 12
RLP1720 - 532 120 M12X1.75-55L | 20.7 | 125
RLP2014 - 5% 114 M16X2 -55L|24.8| 200
20 ——go40 30
RLP2018 - 5% 118 13 30.8| 220
o1 M16X2  -65L
RLP2521 - 25 | 5312 |21 | 34 27.8| 270
Use for a shaft of Guide Rollers. Depending on thickness of the mounting plate,

prepare a proper hex socket button head screw
that is commercially available.



